Website: http://www.kcam.biz

ON SOME NEW NONLINEAR DELAY AND WEAKLY SINGULAR INTEGRAL INEQUALITIES

QING-HUA MA AND L.DEBNATH

ABSTRACT. This paper deals with some new nonlinear delay and weakly singular integral inequalities of Gronwall-Bellman type. These results generalize the inequalities discussed by Xiang and Kuang [19]. Several other inequalities proved by Medved [15] and Ou-Iang [17] follow as special cases of this paper. This work can be used in the analysis of various problems in the theory of certain classes of differential equations, integral equations and evolution equations. A modification of the Ou-Iang type inequality with delay is also treated in this paper.

AMS Mathematics Subject Classification: 26D, 26D10, 26D20 Key words and phrases: Integral inequality, delay, weakly singular, priori bound.

1. Introduction

Integral inequalities play a vital role in the study of many differential and integral equations and their applications. In recent years, considerable attention has been given to various generalizations, extensions and refinements of integral inequalities by many authors. In particular, the Gronwall-Bellman inequality and new nonlinear delay and weakly singular integral inequalities of Gronwall-Bellman type have received a special attention by many authors including Cheung and Ma [4-5], Lipovan [8, 9], Ma and his collaborators [10-14], Medved [15-16], Tartar [18], Xiang and Kuang [19] for the investigation of differential, integral and evolution equations.

In order to investigate the optimal control problem for a class of delay systems, Xiang and Kuang [19] have considered two useful linear integral inequalities with delay and singularity as follows:

Received March 31, 2007. Accepted July 20, 2008. *Corresponding author. © 2008 Korean SIGCAM and KSCAM.

$$\begin{aligned} \|x(t)\| & \leq a + b \int_0^t \|x(s)\| ds + c \int_0^t \|x_s\|_C ds, & 0 \leq t \leq T, \\ x(t) &= \psi(t), & -\tau \leq t \leq 0, \end{aligned}$$
 (1.1)

and

$$||x(t)|| \le a + b \int_0^t (t - s)^{\beta - 1} ||x(s)|| ds + c \int_0^t ||x_s||_C ds, \quad 0 < t < T,$$

$$x(t) = \psi(t),$$

$$-\tau \le t \le 0,$$
(1.2)

The main purpose of this paper is to generalize inequalities (1.1) and (1.2) to more general nonlinear integral inequalities that can be used as an effective tool compared to other available inequalities in the literature. In other words, some new nonlinear delay and weakly singular integral inequalities of Gronwall-type are proved in this paper. These results are extensions of delay and weakly singular inequalities discussed by Xiang and Kuang [19]. In addition, several other inequalities proved by Medved [15] and Ou-Iang [17] follow as special cases of results in this paper.

2. Main result

Throughout this paper, let X and Y be two Banach spaces, $\mathcal{L}(X,Y)$ denote the space of bounded linear operators from X to Y. Particularly, $\mathcal{L}(X) = \mathcal{L}(X,X)$ whose norm is denoted by $\|\cdot\|_{\mathcal{L}}$. Suppose r>0, T>0 and I=[0,T]. Let C([-r,a],X) be the Banach space of continuous functions from [-r,a] to X with the usual supremum norm. If a=0, this space is simply denoted by C with its norm denoted by $\|\cdot\|_C$. Obviously, for any $x\in C([-r,T],X)$ and $t\in I$, we define $x_t(\theta)=x(t+\theta)$ for $r\leq\theta\leq0$ so that $x_t\in C$.

Theorem 2.1. Let $\psi \in C$, a(t), b(t), c(t) and $w(t) \in C(I, R_+)$. Let a(t) and w(t) be nondecreasing with w(t) > 0 for t > 0. Let $x \in C([-r, T], X)$ and satisfy the following inequality:

the following inequality:
$$||x(t)|| \le a(t) + \int_0^t b(s)w(||x(s)||)ds + \int_0^t c(s)||x_s||_C ds, \quad 0 \le t \le T, \\ x(t) = \psi(t), \qquad \qquad -\tau \le t \le 0,$$
 (2.1)

then

$$||x(t)|| \le G^{-1} \left\{ G \left[\exp\left(\int_0^t c(s)ds \right) \left(a(t) + ||\psi||_C \int_0^t c(s)ds \right) \right] + \exp\left(\int_0^t c(s)ds \right) \int_0^t b(s)ds \right\}, \quad 0 \le t \le T_1,$$
 (2.2)

where

$$G(v) = \int_{v_0}^{v} \frac{d\xi}{w(\xi)}, \quad v \ge v_0 > 0,$$
 (2.3)

 G^{-1} is the inverse of function G, and $0 < T_1 \le T$ is chosen so that the quantity in the curly brackets of (2.2) is in the range of G.

Proof. We define a nonnegative and nondecreasing function u(t) by the right-hand side of (2.1)

$$u(t) = a(t) + \int_0^t b(s)w(\|x(s)\|)ds + \int_0^t c(s)\|x_s\|_C ds, \qquad (2.4)$$

then

$$||x(t)|| \le u(t), \qquad 0 \le t \le T.$$
 (2.5)

Note that for $0 \le t \le T$,

$$||x_t|| = \sup_{-r \le \theta \le 0} ||x(t+\theta)|| \le \sup_{-r \le \tau \le 0} ||x(\tau)|| + \sup_{0 \le \tau \le t} ||x(\tau)|| \le ||\psi||_C + u(t).$$
 (2.6)

Substituting (2.5) and (2.6) into (2.4) gives

$$u(t) \leq a(t) + \int_0^t b(s)w(\|u(s)\|)ds + \int_0^t c(s)(\|\psi\|_C + u(s))ds. \quad (2.7)$$

Setting

$$\overline{u}(t) = a(t) + \int_0^t c(s) \|\psi\|_C ds + \int_0^t b(s) w(u(s)) ds,$$

then inequality (2.7) can be written as

$$u(t) \leq \overline{u}(t) + \int_0^t c(s)u(s)ds. \tag{2.8}$$

Since $\overline{u}(t)$ is nondecreasing, by the Bellman inequality (see Mitrinovic et al. [2]), it follows from (2.8) that

$$u(t) \le \left(\exp \int_0^t c(s)ds\right) \left(a(t) + \int_0^t c(s) \|\psi\|_C ds + \int_0^t b(s)w(u(s))ds\right) (2.9)$$

We fix any positive number \widetilde{T} ($\leq T_1$), so that we obtain from (2.9) that

$$u(t) \le \left(\exp \int_0^{\widetilde{T}} c(s)ds\right) \left(a(\widetilde{T}) + \int_0^{\widetilde{T}} c(s) \|\psi\|_C ds + \int_0^t b(s)w(u(s))ds\right),$$

$$0 \le t \le \widetilde{T}.$$

Let $\varepsilon > 0$ be an arbitrary small constant, we define a positive function v(t) by

$$v(t) = \left(\exp\int_0^{\widetilde{T}} c(s)ds\right) \left(a(\widetilde{T}) + \varepsilon + \int_0^{\widetilde{T}} c(s) \|\psi\|_C ds + \int_0^t b(s)w(u(s))ds\right),$$

$$0 \le t \le \widetilde{T}.$$
(2.10)

Then

$$u(t) \leq v(t), \qquad 0 \leq t \leq \widetilde{T}.$$
 (2.11)

By differentiation, we derive from (2.10) and (2.11) that

$$\frac{dv}{dt} \le \left(\exp \int_0^{\widetilde{T}} c(s)ds\right) b(t)w(v(t)),$$

i.e.,

$$dG(v(t)) = \frac{dv}{w(v(t))} \le \left(\exp \int_0^{\widetilde{T}} c(s)ds\right)b(s).$$

Integrating both sides of the last inequality yields

$$G(v(t)) \leq G\left[\left(\exp\int_{0}^{\widetilde{T}}c(s)ds\right)\left(a(\widetilde{T})+\varepsilon\int_{0}^{\widetilde{T}}c(s)\|\psi\|_{C}ds\right)\right]$$
$$+\int_{0}^{t}\left(\exp\int_{0}^{\widetilde{T}}c(s)ds\right)b(s)ds.$$

Taking t = T in the last inequality and then letting $\varepsilon \to 0$, we obtain

$$G(v(\widetilde{T})) \leq G\left[\left(\exp\int_{0}^{\widetilde{T}}c(s)ds\right)\left(a(\widetilde{T})+\int_{0}^{\widetilde{T}}c(s)\|\psi\|_{C}ds\right)\right]$$
$$+\int_{0}^{\widetilde{T}}\left(\exp\int_{0}^{\widetilde{T}}c(s)ds\right)b(s)ds.$$

Since $\stackrel{\sim}{T} \in (0, T_1]$ is arbitrary, it follows from (2.11) and the last inequality that

$$u(t) \leq v(t), \quad 0 < t \leq T_1, \tag{2.12}$$

and

$$\begin{split} G(v(t)) & \leq & G\left[\left(\exp\int_0^t c(s)ds\right)\left(a(t) + \int_0^t c(s)\|\psi\|_C ds\right)\right] \\ & + \left(\exp\int_0^t c(s)ds\right)\int_0^t b(s)ds, \qquad 0 < t \leq T_1, \end{split}$$

or,

$$v(t) \leq G^{-1} \left\{ G \left[\left(\exp \int_0^t c(s) ds \right) \left(a(t) + \int_0^t c(s) \|\psi\|_C ds \right) \right] + \left(\exp \int_0^t c(s) ds \right) \int_0^t b(s) ds \right\}, \quad 0 < t \leq T_1. \quad (2.13)$$

Using (2.5) and (2.12)-(2.13), we obtain

$$||x(t)|| \leq G^{-1} \left\{ G \left[\left(\exp \int_0^t c(s) ds \right) \left(a(t) + \int_0^t c(s) ||\psi||_C ds \right) \right] + \left(\exp \int_0^t c(s) ds \right) \int_0^t b(s) ds \right\}, \quad 0 < t \leq T_1. (2.14)$$

In view of (2.1), inequality (2.14) also holds when t = 0.

Remark 1. (i) Under the hypotheses of Theorem 2.1, if $w \in H_{\phi}$ (see Dannan [6]), i.e., there is a nonnegative continuous function ϕ such that $w(uv) \le \phi(u)w(v)$ for $u, v \ge 0$, we can get a sharper estimation to ||x(t)|| as follows:

$$||x(t)|| \leq \left(\exp \int_{0}^{t} c(s)ds\right) G^{-1} \left\{ G\left(a(t) + \int_{0}^{t} c(s)||\psi||_{C}ds\right) + \int_{0}^{t} b(s) \exp\left(-\int_{0}^{s} c(\tau)d\tau\right) \phi\left(\exp \int_{0}^{s} c(\tau)d\tau\right) ds \right\}, \ 0 \leq t \leq T'_{1},$$

where G and G^{-1} are defined as in Theorem 2.1, and $0 < T'_1 \le T$ is chosen so that the quantity of the curly brackets in (2.15) in the range of G.

(ii) When $w(u) \equiv u$, $a(t) \equiv a$, $b(t) \equiv b$ and $c(t) \equiv c$, by (2.15), we can get the result of Lemma 1.1 of Xiang and Kuang [19].

Theorem 2.2. Let a(t), b(t), c(t) and $\psi(t)$ be as in Theorem 2.1. Let $\omega \in C^1(R_+, R_+)$ with ω' nondecreasing and $\omega'(u) > 0$ for u > 0. If $x \in C([-r, T], X)$ satisfies the following inequality

$$\omega \|x(t)\| \le a(t) + \int_0^t b(s) \, \omega'(\|x(s)\|) \, ds$$

$$\times \left[\omega(\|x(s)\|) \, ds + \int_0^t c(s) \, \|x_s\|_c \right] ds,$$

$$0 \le t \le T,$$

$$x(t) = \psi(t), \qquad -\tau \le t \le 0,$$

$$(2.16)$$

then

$$||x(t)|| \le G^{-1} \left\{ G \left[\exp\left(\int_0^t c(s)ds \right) \left(\omega^{-1}(a(t)) + ||\psi||_C \int_0^t c(s)ds \right) \right] + \exp\left(\int_0^t c(s)ds \right) \int_0^t b(s)ds \right\}, \quad 0 \le t \le T_2, \quad (2.17)$$

where G and G^{-1} are defined as in Theorem 2.1, ω^{-1} is the inverse function of ω and $0 < T_2 \le T$ is chosen so that the quantity in the curly brackets of (2.17) is in the range of G.

Proof. Let $\varepsilon > 0$ be an arbitrary small real number. Fixing any positive number $\tilde{T} (\leq T_2)$, we define a positive nondecreasing function u(t) by

$$\omega(u(t)) = a(\widetilde{T}) + \varepsilon + \int_0^t \omega'(\|x(s)\|) [b(s)w(\|x(s)\|) + c(s)\|x_s\|_C] ds,$$

$$0 \le t \le \widetilde{T}.$$
 (2.18)

Then

$$||x(t)|| \le u(t), \qquad 0 \le t \le \stackrel{\sim}{T}.$$
 (2.19)

By differentiation, we derive from (2.18) and (2.6) that

$$\omega'(u(t))\frac{du}{dt} = \omega'(\|x(t)\|) [b(t)w(\|x(t)\|) + c(t)\|x_t\|_C]$$

$$\leq \omega'(\|u(t)\|) [b(t)w(\|u(t)\|) + c(t)u(t) + c(t)\|\psi\|_C],$$

i.e.,

$$\frac{du}{dt} \le b(t)w(||u(t)||) + c(t)u(t) + c(t)||\psi||_C$$

since u(t) > 0 for $0 \le t \le \widetilde{T}$, ω' is nondecreasing with $\omega > 0$ for u > 0 and (2.19) holds.

Integrating the both sides of the last inequality from 0 to t, we obtain

$$u(t) \leq \omega^{-1}(a(\tilde{T} + \varepsilon)) + \int_{0}^{t} [b(s)w(\|u(s)\|) + c(s)u(s) + c(s)\|\psi\|_{C}] ds,$$

$$0 < t < \tilde{T}.$$
(2.20)

Using procedure similar to (2.7) and (2.14) as stated in the proof of Theorem (2.1), we can derive from (2.19) and (2.20) that

$$||x(t)|| \le G^{-1} \left\{ G \left[\exp\left(\int_0^t c(s)ds \right) \left(\omega^{-1}(a(t)) + ||\psi||_C \int_0^t c(s)ds \right) \right] + \exp\left(\int_0^t c(s)ds \right) \int_0^t b(s)ds \right\}, \qquad 0 \le t \le T_2. \quad (2.21)$$

By (2.16), (2.21) also holds when t = 0.

Remark 2. By choosing suitable function ω in Theorem 2.2, we can obtain some useful and interesting inequalities. For instance, let $\omega = u^p$ (p > 1 is a constant) in Theorem 2.2,inequality (2.16) is a new class of Ou-Iang [17] delay inequality which is different from the delay inequalities discussed in [4, 8-11] and [13].

We next use a modification of Medved's [15] method to study a class of new delay integral inequalities with weakly singular and delay which are nonlinear extension of (1.2). For convenience, we cite one definition and two Lemmas from Ma and Yang [12] as follows:

Definition. One ordered nonnegative real numbers [x, y, z] belongs to the first class distribution and denoted by $[x, y, z] \in H_1$, if $x \in (0, 1]$, $y \in (\frac{1}{2}, 1)$ and $z \ge \frac{3}{2} - y$; and it is called the second class distribution and denoted by $[x, y, z] \in H_2$, if $x \in (0, 1]$, $y \in (0, \frac{1}{2}]$ and $z > (1 - 2y^2)/(1 - y^2)$.

Lemma 2.1. Let α , β , γ and p be positive constants, then

$$\int_0^t \left(t^\alpha-s^\alpha\right)^{p(\beta-1)}s^{p(\gamma-1)}ds = \frac{t^\theta}{\alpha}B\left[\frac{p(\gamma-1)+1}{\alpha},p(\beta-1)\right], \quad t\geq 0,$$

where $B[\xi, \eta]$ is the Beta function defined by

$$B[\xi,\eta] = \int_0^1 s^{\xi-1} (1-s)^{\eta-1} ds \; (\Re \xi > 0, \Re \eta > 0)$$

and $\theta = p[\alpha(\beta - 1) + \gamma - 1] + 1$.

Lemma 2.2. If positive real numbers α , β , γ , p_1 and p_2 satisfy

(i)
$$[\alpha, \beta, \gamma] \in H_1, p_1 = 1/\beta$$
; or

(ii)
$$[\alpha, \beta, \gamma] \in H_2, p_2 = (1+4\beta)/(1+3\beta)$$
, then we have

$$B\left[rac{p_i(\gamma-1)+1}{lpha},p_i(eta-1)+1
ight]\in(0,+\infty)$$

and
$$\theta_i = p[\alpha(\beta - 1) + \gamma - 1] + 1 \ge 0$$
 for $i = 1, 2$.

Theorem 2.3. Suppose that functions a(t), b(t), c(t), $\psi(t)$ and w(t) are defined as in Theorem 2.1. If $x \in C([-r, T], X)$ satisfies the following inequality:

$$||x(t)|| \le a(t) + \int_0^t (t^{\alpha} - s^{\alpha})^{\beta - 1} s^{\gamma - 1} b(s) w(||x(s)||) ds + \int_0^t (t^{\alpha} - s^{\alpha})^{\beta - 1} s^{\gamma - 1} c(s) ||x_s||_C ds, \quad 0 \le t \le T,$$

$$x(t) = \psi(t), \qquad -\tau \le t \le 0.$$
(2.22)

Then, we have

(i) if
$$[\alpha, \beta, \gamma] \in H_1$$
,

$$u(t) \le \left\{ G_1^{-1} \left[G_1(A_1(t) \exp C_1(t)) + B_1(t) \exp C_1(t) \right] \right\}^{1-\beta}, \ t \in [0, T_3], (2.23)$$

where

$$\begin{array}{lcl} A_{1}(t) & = & 3^{\frac{\beta}{1-\beta}} \ a^{\frac{1}{1-\beta}}(t) + \|\psi\|_{C}^{\frac{1}{1-\beta}} C_{1}(t), \\ B_{1}(t) & = & 3^{\frac{\beta}{1-\beta}} \ m_{1}^{\frac{\beta}{1-\beta}}(t) \int_{0}^{t} b^{\frac{1}{1-\beta}}(s) ds, \\ C_{1}(t) & = & 6^{\frac{\beta}{1-\beta}} \ m_{1}^{\frac{\beta}{1-\beta}}(t) \int_{0}^{t} c^{\frac{1}{1-\beta}}(s) ds, \\ G_{1}(t) & = & \int_{v_{0}}^{v} \frac{d\xi}{w^{\frac{1}{1-\beta}}(\xi^{1-\beta})}, v \geq v_{0} > 0, \\ m_{1}(t) & = & \frac{1}{\alpha} B \left[\frac{\beta + \gamma - 1}{\alpha\beta}, \frac{2\beta - 1}{\beta} \right] t^{[\alpha(\beta - 1) + \beta + \gamma - 1]/\beta}, \end{array}$$

where G_1^{-1} is the inverse of G, and $0 < T_3 \le T$ is chosen so that the quantity in the square brackets of (2.23) is in the range of G_1 ;

(ii) if
$$[\alpha, \beta, \gamma] \in H_2$$
, then

$$u(t) \le \left\{ G_2^{-1} \left[G_2(A_2(t) \exp C_2(t)) + B_1(t) \exp C_2(t) \right] \right\}^{\frac{\beta}{1+4\beta}}, \quad t \in [0, T_4], \ (2.24)$$
where

$$A_{2}(t) = 3^{\frac{1+3\beta}{\beta}} a^{\frac{1+4\beta}{\beta}}(t) + \|\psi\|_{C}^{\frac{1+4\beta}{\beta}} C_{2}(t),$$

$$B_{2}(t) = 3^{\frac{1+3\beta}{\beta}} m_{2}^{\frac{1+\beta}{\beta}}(t) \int_{0}^{t} b^{\frac{1+4\beta}{\beta}}(s) ds,$$

$$C_{2}(t) = 6^{\frac{1+\beta}{\beta}} m_{2}^{\frac{1+3\beta}{\beta}}(t) \int_{0}^{t} c^{\frac{1+4\beta}{\beta}}(s) ds,$$

$$G_{2}(t) = \int_{v_{0}}^{v} \frac{d\xi}{w^{\frac{1+4\beta}{\beta}} \xi^{\frac{\beta}{1+4\beta}}}, v \geq v_{0} > 0,$$

$$m_{2}(t) = \frac{1}{\alpha} B \left[\frac{\gamma(1+4\beta) - \beta}{\alpha(1+3\beta)}, \frac{4\beta^{2}}{1+3\beta} \right] t^{[\alpha(1+4\beta)(\beta-1) + \gamma(1+4\beta-\beta]/(1+3\beta)},$$

and G_2^{-1} is the inverse of G, and $0 < T_4 \le T$ is chosen so that the quantity in the square brackets of (2.24) is in the range of G_2 .

Proof. To prove (i) and (ii) we introduce the following indices: if $[\alpha, \beta, \gamma] \in H_1$, let $p_1 = \frac{1}{\beta}$, $q_1 = \frac{1}{1-\beta}$; if $[\alpha, \beta, \gamma] \in H_2$, let $p_2 = \frac{1+4\beta}{1+3\beta}$, $q_2 = \frac{1+4\beta}{\beta}$, where $p_i^{-1} q_i^{-1} = 1$ (i = 1, 2).

Using Hölder's inequality with indices p_i and q_i , we obtain from (2.22) that

$$\begin{split} \|x(t)\| & \leq a(t) + \left[\int_0^t (t^\alpha - s^\alpha)^{p_i(\beta - 1)} s^{p_i(\gamma - 1)} ds \right]^{1/p_i} \\ & \times \left[\left(\int_0^t b^{q_i}(s) w^{q_i} (\|x(s)\| ds \right)^{1/q_i} + \left(\int_0^t c^{q_i}(s) \|x_s\|_C^{q_i} ds \right)^{1/q_i} \right], 0 \leq t \leq T. \end{split}$$

By Lemmas 2.1 and 2.2, the last inequality can be rewritten as

$$||x(t)|| \le a(t) + \left\{ \frac{1}{\alpha} B \left[\frac{p_i(\gamma - 1) + 1}{\alpha}, p_i(\beta - 1) + 1 \right] t_i^{\theta} \right\}^{1/p_i} \times \left[\left(\int_0^t b^{q_i}(s) w^{q_i} (||x(s)|| ds)^{1/q_i} + \left(\int_0^t c^{q_i}(s) ||x_s||_C^{q_i} ds \right)^{1/q_i} \right], \ 0 \le t \le T,$$

$$(2.25)$$

where the value of Beta function B is positive and $\theta_i = p[\alpha(\beta - 1) + \gamma - 1] + 1$ is nonnegative.

Setting

$$m_i(t) = \frac{1}{\alpha} B \left[\frac{p_i(\gamma - 1) + 1}{\alpha}, p_i(\beta - 1) + 1 \right] t^{\theta_i},$$
 (2.26)

and using the following well known consequence of the Jensen inequality,

$$(K_1 + K_2 + \dots + K_n)^r \le n^{r-1}(K_1^r + K_2^r + \dots + K_n^r),$$
 (2.27)

where n is a positive integer, $r \ge 1$, K_1 , K_2 , \cdots , K_n are nonnegative constants, we obtain from (2.25) that

$$||x(t)||^{q_{i}} \leq 3^{q_{i}-1} \left[a^{q_{i}}(t) + m_{i}^{q_{i}/p_{i}}(t) \left(\int_{0}^{t} b^{q_{i}}(s) w^{q_{i}}(||x(s)||) ds + \int_{0}^{t} c^{q_{i}}(s) ||x_{s}||_{C}^{q_{i}} ds \right) \right].$$
(2.28)

By (2.6) and using (2.27) again, we obtain

$$||x_s||_C^{q_i} \le 2^{q_i-1} (||\psi||_C^{q_i} + ||x(s)||^{q_i}).$$
 (2.29)

Substituting (2.29) into (2.28) gives

$$||x(t)||^{q_{i}} \leq \left[A_{i}(t) + 3^{q_{i}-1}m_{i}^{q_{i}/p_{i}}(t) \int_{0}^{t} b^{q_{i}}(s)w^{q_{i}}(||x(s)||)\right] + 6^{q_{i}-1}m_{i}^{q_{i}/p_{i}}(t) \int_{0}^{t} c^{q_{i}}(s)||x_{s}||_{C}^{q_{i}}ds, \quad (2.30)$$

where

$$A_i(t) = 3^{q_i-1} \left(a^{q_i}(t) + 2^{q_i-1} \|\psi\|_C^{q_i} m_i^{q_i/p_i}(t) \int_0^t c^{q_i}(s) ds \right).$$

Since the function in the square brackets of (2.30) and $6^{q_i-1}m_i^{q_i/p_i}(t)$ are nondecreasing, using a generalized Bellman inequality in Dannan [6] to (2.30), we obtain

$$\begin{split} \|x(t)\|^{q_i} & \leq \left[A_i(t) + 3^{q_i-1} m_i^{q_i/p_i}(t) \int_0^t b^{q_i}(s) w^{q_i}(\|x(s)\|)\right] \exp C_i(t) \end{aligned} \\ \text{where } C_i(t) = 6^{q_i-1} m_i^{q_i/p_i}(t) \int_0^t c^{q_i}(s) ds.$$

Let $\varepsilon > 0$ be an arbitrary small constant and fix any positive number $\bar{t}_i \in (0, T_{i+2}]$. Since $A_i(t), C_i(t)$ and $m_i(t)$ are nonnegative and nondecreasing, it follows from (2.31) that

$$||x(t)|| \le Z_i^{1/q_i}(t), \quad t \in [0, \bar{t}_i],$$
 (2.32)

where

$$Z_{i}(t) = \left[A_{i}(\overline{t}_{i}) + \varepsilon + 3^{q_{i}-1} m_{i}^{q_{i}/p_{i}}(\overline{t}_{i}) \int_{0}^{t} b^{q_{i}}(s) w^{q_{i}}(\|x(s)\|) \right] \exp C_{i}(\overline{t}_{i}). \quad (2.33)$$

By differentiation and use of (2.32), we derive from (2.33) that

$$\frac{dZ_{i}(t)}{dt} \leq \left(3^{q_{i}-1}m_{i}^{q_{i}/p_{i}}(\bar{t}_{i})\exp C_{i}(\bar{t}_{i})\right)b^{q_{i}}(t)w^{q_{i}}(Z_{i}^{1/q_{i}}(t)),$$

or,

$$\frac{dZ_i(t)}{w^{q_i}(Z_i^{1/q_i}(t))} \le \left(3^{q_i-1} m_i^{q_i/p_i}(\bar{t}_i) \exp C_i(\bar{t}_i)\right) b^{q_i}(t).$$

Integrating both sides of the last relation from 0 to t, by the definition of G_i , and in view of $Z_i(0) = (A_i(\bar{t}_i) + \varepsilon) \exp C_i(\bar{t}_i)$ from (2.33), we have

$$G_i(Z_i(t)) \leq G_i[(A_i(\bar{t}_i) + \varepsilon) \exp C_i(\bar{t}_i)]$$

$$+3^{q_i-1} m_i^{q_i/p_i}(\bar{t}_i) (\exp C_i(\bar{t}_i)) \int_0^t b^{q_i}(s) ds, \qquad t \in [0, \bar{t}_i].$$

Taking $t = \bar{t}_i$ in the last inequality and then letting $\varepsilon \to 0$, we obtain

$$G_i(Z_i(t)) \le G_i[A_i(\bar{t}_i) \exp C_i(\bar{t}_i)] + 3^{q_i-1} m_i^{q_i/p_i}(\bar{t}_i) (\exp C_i(\bar{t}_i)) \int_0^{\bar{t}_i} b^{q_i}(s) ds.$$

Since $\bar{t}_i - \in (0, T_i i + 2]$ is arbitrary, from the last relation and (2.32) we obtain

$$G_i(Z_i(t)) \le G_i[A_i(t) \exp C_i(t)] + 3^{q_i - 1} m_i^{q_i / p_i}(t) (\exp C_i(t)) \int_0^t b^{q_i}(s) ds, \quad (2.34)$$

$$t \in (0, T_{i+2}]$$

۸r

$$Z_i(t) \le G^{-1} \left[G_i[A_i(t) \exp C_i(t)] + 3^{q_i - 1} m_i^{q_i/p_i}(t) (\exp C_i(t)) \int_0^t b^{q_i}(s) ds \right] (2.35)$$

$$t \in (0, T_{i+2}],$$

and

$$||x(t)|| \le Z_i^{1/q_i}(t), \qquad t \in (0, T_{i+2}].$$
 (2.36)

Hence, by (2.35) and (2.36), we have

$$||x(t)|| \le G^{-1} \left[G_i[A_i(t) \exp C_i(t)] + 3^{q_i - 1} m_i^{q_i/p_i}(t) (\exp C_i(t)) \int_0^t b^{q_i}(s) ds \right] (2.37)$$

$$t \in (0, T_{i+2}].$$

In view of inequality (2.22), (2.37) also holds when t = 0.

Finally, considering two situations for i = 1, 2 and using parameters α, β and γ to denote p_i , q_i and θ_i in (2.37), we can get the desired inequalities (2.23) and (2.24), respectively.

Remark 3. In Theorem 2.3, letting $a(t) \equiv a$, $b(t) \equiv b$, $c(t) \equiv c(a, b \text{ and } c \text{ are constants})$, $\alpha = \gamma = 1$ and $w(u) \equiv u$, then it follows result of Lemma 1.2 of Xiang and Kuang [19].

Acknowledgment

The first author's research was supported by NSF of Guangdong Province and the Research Group Grants Council of the Guangdong University of Foreign Studies (Project No. GW2006-TB-002) of China.

REFERENCES

- V. Lakshmikantham and S. Leela, Differential and Integral Inequalities, Theory and Applications, Academic Press, New York, 1969.
- D. S. Mitrinović, J. K. Pečarić and A. M. Fink, Inequalities Involving Functions and Their Integrals and Derivatives, Dortlrecht/Boston/London, Kluwer Academic Publishers, 1991.
- D. D. Bainov and P. Simenov, Integral Inequalities and Applications, Kluwer Academic Publishers, 1992.
- 4. W. S. Cheung and Q. H. Ma, Nonlinear retarded integral inequalities for functions in two variables, J. Concrete Appl. Math., 2 (2004), 119-134.
- 5. W. S. Cheung and Q. H. Ma, On certain new Gronwall-Ou-Iang type integral inequalities in two variables and their applications, J. Inequal. Appl., Vol. 2005 (2005), Issue 4, 347-361.
- F. Dannan, Submultiplicative and subadditive functions and integral inequalities of Bellman-Bihari type, J. Math. Anal. Appl., 120 (1986), 631-646.
- H. E. Gollwitizer, A note on a funcational inequality, Proc. Amer. Math. Soc., 23 (1969), 642-647.
- O. Lipovan, A retarded Gronwall-Like inequality and its applications, J. Math. Anal. Appl., 252 (2000), 389-401.
- O. Lipovan, A retarded integral inequality and its applications, J. Math. Anal. Appl., 285 (2003), 436-44.
- Q. H. Ma and E. H. Yang, On some new nonlinear delay integral inequalities, J. Math. Anal. Appl., 252 (2000), 864-878.
- 11. Q. H. Ma and E. H. Yang, Some new Gronwall-Bellman-Bihari type integral inequalities with delay, Period., *Math. Hungar.*, 44 (2002), 225-238.
- Q. H. Ma and E. H. Yang, Estimations on solutions of some weakly singular Volterra integral inequalities, Acta Math. Appl. Sinica, 25 (2002), 505-515.
- 13. Q. H. Ma and J. Pečarić, Some new nonlinear retarded integral inequalities and their applications, *Math. Inequal. Appl.*, 9 (2006), 617-632.
- 14. Q. H. Ma and L. Debnath, A more generalized Gronwall like integral inequality with applications, Internat. J. Math & Math. Sci., 32 (2003), 927-934.
- M. Medved, A new approach to an analysis of Henry type integral inequalities and their Bihari type versions, J. Math. Anal. Appl., 214 (1997), 349-366.
- M. Medved, Singular integral inequalities and stability of semillinear parabolic equation, Arch. Math. (Brno), 34 (1998), 183-190.
- 17. L. Ou-Iang, The boundedbess of solutions of linear differential equations y'' + A(t)y = 0, Shuxue Jinzhan, 3 (1957), 409-415.

- N.-E. Tatar, An impulsive nonlinear singular version of the Gronwall-Bihari inequality, J. Inequal. Appl., Vol. 2006 (2006), Article ID 84561, Pages 1-12.
- X. L. Xiang and H. K. Kuang, Delay system and optimal control, Acta Math. Appl. Sinica, English Series, 16 (2000), 27-35.
- 20. X. L. Xiang and N. U. Ahmed, Existence of periodic solutions of semilinear evolution equation with time lags, *Nonlinear Analysis*, TMA, 18 (1992), 1063-1070.
- 21. E.H. Yang, Some nonlinear integral and discrete inequalities related to Ou-Iang's inequalities, *Acta Math. Sinica*, New Series, 14 (1998), 323-360.

Qing-hua Ma,

Faculty of Information Science and Technology, Guangdong University of Foreign Studies, Guangzhou 510420, P. R. China

E-mail: gdqhma@sina.com

Lokenath Debnath,

Department of Mathematics, University of Texas-Pan American, Edinburg, Texas 78539 U. S. A.

E-mail: debnathl@utpa.edu